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QUESTION 1

Which of the following memory attributes, specified in a translation table entry, could be used to protect a page
containing a read-sensitive peripheral from speculative instruction fetches?

A. S (Secure)

B. nG (non-Global)

C. xN (Execute Never)

D. AP (Access Permission)

Correct Answer: C

QUESTION 2

Printf statements could be used to achieve which of the following debug tasks?
A. Observe changes to a local variable in a function

B. Capture a real-time trace of program execution

C. Debug boot code, before a call to the C main() function

D. Stop the processor at an interesting location in the code

Correct Answer: A

QUESTION 3

Under which of the following circumstances would a DSB instruction be used?

A. In a multi-threaded system, when two threads need to be synchronized at a particular point

B. When accessing a peripheral, it is necessary to halt until the memory access is complete

C. When it is necessary to temporarily disable interrupts while carrying out a particular memory access

D. In a multiprocessor system, when it is necessary to halt one of the cores while the other completes a critical task

Correct Answer: B

QUESTION 4
When programming in C, how many bytes of stack are needed to pass parameters when calling the following function?

int foo(int arg_a, intarg_b, intarg_c)
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A.0
B. 4
C.8
D. 12

Correct Answer: A

QUESTION 5

What is an "Entry point" in an application?

A. A place where execution can start

B. The location of the main () function

C. The lowest address contained in a program image

D. A location where the linker can store additional information

Correct Answer: A
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